THE CUTTING EDGE

F60 SERIES CNC
MACHINING CENTER

OPTIONAL EQUIPMENT CATALOG

8029 S 200th St. Kent, WA 98032 USA | www.rottlermfg.com | Ph: 253-872-7050 | Fax: 253-395-0230
13.06.2016






ORDERING PROCEDURE

Contact your regional Rottler sales rep for assistance in ordering optional equipment, replacement parts,
or tooling.

If you are unable to contact your regional Rottler sales rep, call the factory at 253-872-7050 and ask to
speak to the parts sales specialist.

Have the following information handy to expedite the ordering process:
1. Your name, business name, and contact number
Customer number

If you don’t have a customer number, your billing address

2
3
4. Shipping address if different from billing address
5. Machine model and serial number

6. Part number and description of what you want to order
7. Preferred method of shipment

You may also contact us via e-mail with the above information. Send e-mail requests to:
parts@rottlermfg.com

In some cases you may be requested to send a photo of the part you are ordering if it is a replacement
part, or doesn’'t appear in the database.

If you are unsure which part you need to order, contact our service department and ask to speak to one of
our service consultants. They will assist you in determining which part you require.

THERE IS A MINIMUM ORDER OF $25.00


mailto:parts@rottlermfg.com




F60 Series @ Optional Equipment Catalog

F60 SERIES OPTIONAL EQUIPMENT
CATALOG

Contents

Spare Parts for Automatic WiIrelesSs Probe ... 1
BOABU SPAIE BATLEIY ....eeiiiiiiiiiie ittt ettt e e oo oo 4ottt e et e e oo oo 4o ettt e e e et e e e ettt e e e e e e n e e e e e e e s 1
650-3-59C 50mMm 1oNg X 6MM AiaMETET STYIUS .....oiiiiiiiiii et e e e e 1
650-3-59D 100mm 1ong X 6MM IaMETEE STYIUS ....coiiiiiiiiii ittt e e et et e e e e e e e e e bbb b e e e e eaaaaaa e s 1
650-3-59E 20mMm [ong X 2mMmM diamMELEr SEYIUS ...uveiiiiiiie e e e e e e e e e s e ereaaaeeeaes 1
650-3-59K 50mm Extension for 50mm & L100MIM StYIUS .......uuiiiiiiiiiiee et 1
B648T LOMIM SEYIUS EXLENSION ...eiiiiiiiiie ettt e et o4kttt e e e skt e e 4 e h bt e e e e bbbt e e e et e e e e e e st e e e e e nnees 1
6648Q 17.5mMmm 1oNg X 6MM AIAMETET STYIUS ....uveiiiiiiiieee ettt e e e e e e e e e s e e e e e aaeae e s 1
D QLU ] o Vo [OOSR PO PPPPPPPPPPP 2
650-3-30 Block End Truing FiXture ASSEMDIY ..o 2
650-3-30A Block End Truing FiXture ASSEMDIY .........ouiiiiiiiiei e 3
650-3-20A Pan Rail Wedge FiXTUIE......cccoi oo 4
650-3-84 Overhead Cam Block Fixture for V6 V8 engines, 4th AXIS ......cccooiiiiiiiiiiiiieee 6
MiISCEIANEOUS ACCESSOIES ...ciiiiiieieittiiiiiaa et e e e e e eeeeeeeeeeeaetaasa i aaaaeaeeaateeteeeesessssssnaaaaaaaaeeaeeeeeeennssnnnnns 7
650-3-82 Mopar 5.7L Hemi FIXtUre ASSEMDIY ......ccooiiiiii i e 7
T242M Clamp TOWET ASSEMDIY ...t e e e e e e e e e e e e e s et e e e e e e e e aannnes 8
7241P Rottler Economy Head and BloCK FixXture ASSEMDBIY.........coiiiiiiiiiiiiic e 9
650-3-37 1/2” (12.7mm) Universal Clamping Kit..........ooooiiiiii e e 10
650-2-11H Combination Grit Sharpening STONE.........cccoii i b aanraane 10
650-2-45H 1 (25.4mm) Diameter Roughing End Mill ... 10
(€T=To (13- g o B [ o [ of=1 o] £ PP PP PP PP P TP 11
650-3-38 Level-Intake and EXhaust ManifoldS ............uueiiiiiiiiiiiii e 11
7152A Dual AXIS LEVEI ASSEMDIY ... e e 11
502-9-9G Three Dimensional ElectroniC POSItION FINAEI.............eviiiiiiiiiiiiiiiiee e 11

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 I

www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

502-9-9A Mechanical RUN OUL INAICATON ... ..o seeeenssensennennne 12
502-11-39D Mechanical RUN OUL INAICALON ........ccoiiiiieiiei e sanssnnssnnssnnsnnnes 12
YO Y = T g = Lol = 7 T 12
Boring/Sleeving/Chamfering/O-RiNG TOOING .......ooviiiiiiiiiiiiiiee e e e 13
650-2-1D CULErNEAA PACKAGE ......eeeiiiiiiiiiietee et e et e e e e e e st e et e e e e e e s s bbb e e e e e e e e e aaes 13
650-2-14B CutterNead PaCKAGE .........uuiiii it e e e e et s e e e e e e e e e et s e e e e e e e eerarnn s 14
650-2-14F CutterNead ASSEMDIY .....oooi e e e e e e e e e e 15
Extender for 650-2-14 CUTIEINEAUS ........ee ittt ettt ettt ettt ettt et et e e et et eeeeeeeeeeeeeeeeeeeeeees 16
650-2-16D 1.4007 (35.56MIM) SPBCET ....ciiiiiiiiiiiie e ettt e e e e ettt e e e e e e ettt e e e e s s bbb e et e e e e e e s anbbanreeeeeeaaanns 16
Miscellaneous Tooling for 650-2-14 CUIErNEAAS .......uuueiiiiiiiiiiiiieie s 16
501-29-6K PCD Tipped TranQUIAT INSEIT ... . ...ttt ettt e e e e e e e e e bbbttt e e e e e e e e e e e e anbbb e b e e eaaaaaeeeaaan 16
B6598M Cartridge, THHANGQUIAT ........uueiiiiiieie et e e e e e e et e e e e e e s s e e et e aeeeeeeaeeasasaaansssbeeaeeaeaeeeeesansnnstnbaeraeeaeeeeans 16
Il RO Tan g Te (o T N g =T g o 6| - L O U PRPP 16
B6599D Cartridge, THIANGUIAT........coiiiiiii ettt e oot e oo ekt e e e e a b et e e e e bbbt e e e e et e e e e e e anbe e e e e e annnes 16
(S1SH RN Ko To ] N 71 OO PT U PPTR 16
(G1o k| I o To ] I = | SO P STPPTR U P TR PPPTR 16
LSIoN e\ Ko Yo I =T S STSRSPPPN 16
(S1S MR (@ I Koo ] I =) ST PRTR 16
(S1oN ] = Ko To ] N = | PO 17
6747K Cartridge Assembly - 5 Degree CRaMTEr ..........oooi i e e e e e e e s s e e e eaaaaeeaaan 17
6747P Cartridge Assembly - 10 Degree ChamIfer ........uiii it 17
6747G Cartridge AsSsembly - 15 Degree CRamMTEr ... ... 17
6747F Cartridge Assembly - 20 Degree ChamTEr ...t e e e e e e e eaaaaeas 17
6747M Cartridge Assembly - 20 Degree CRamMIer ... ... e e e e e e reaaees 17
6747H Cartridge Assembly - 30 Degree ChamMIFEr ..........uii it 17
B593L Cartridge ASSEIMDIY ... ...ttt oot e ekt e e et e e e et e e e e 17
B593M Cartridge ASSEIMDIY ... ... i ettt e e e oo oo b et e ettt e e e e e e e e e e bbb bbbt e et e e e e e e e e e e e bbb ba et eeaaaeaeaa s 17
B593N Cartridge ASSEMDIY ... ..ot r et e e e e e e s s s et e —t e e et e eeee e e e e aa e —a bt e —reataaeaeeaananrararrraaeaeeeaan 17
B593P Cartridge ASSEMIDIY .. ..ottt e oo bt e e oo kbt e e e e bt e e e e bt e e e et e e e b e e e 17
L 24 R 1 17T o PP U PP PR 18
L I A [ 1= o PP PP PT TP PP PP T PR 18
LR 2 A [ 1=T= o SO TP PP P PP PPPPPPPT 18
L G 727 | g == PSP 18
R YA N 1 6 ET =T o PP UU PP PP PTRR 18
R Y4 S 1 0 E 1] o P P PP P T TP PP TP PR 18

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 I

www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

R ST A N [ 11T o ST PP PP PT PP PTPTT PR 18
R I Y [ 0 KT o T PP P PP PPPPPPPPPT 18
SUIMTACING TOOIING ...t e oottt ettt et e et e e e e e e e e e e e e e e e e e nnnnneeneees 19
650-2-8E Surfacing Cutterhead, Flycutter, 10” (254mm) DIiameter ...........uvvviieiiiiiiiiiiiiieeee e 19
650-2-8F Surfacing Cutterhead, Flycutter, 14 (356mMm) Diameter ........c..cooiviiiiiiiiii i eeeeeaen 19
(OG0 1C] = 1 = I [ 1= o SRS 20
(30102 1Y/ I = oo I 1 1S7= o PP PPRPRRT 20
(G102 ] Qo T= 1 (=To I OF=Tg o] [o [ [ [S7=T o FUU TP PPPPPTTT 20
(ST Ao @ =1 [ 1=T=T o TP TP PP PP PPPPPPPT 20
(301021 I @ = N = Lo T T T 1 1T~ o OSSP PEER 20
Y8 = Tod [ T T D 0 L= PO PUPPPPP 21
7209M Leveling Table With AIrFIOAT ............uuiiiiee e e e 21
7226G Exhaust and Intake Manifold Surfacing FiXture SYStEM............uuuiiiiiiiiiiiiiiiiiiiiiiren, 22
7152A Dual AXIS LEVEI ASSEMDIY ... e e e 23
YT W T g = o] =T Ko o] 11 0o [T OO POPOPPPPPPPPP 24
6753Q Main Line Bore 90 Degree Right Angle Drive ASSEMDBIY ..., 24
650-2-38G Special Belt Drive 90 Degree Right Angle Drive ASSEMDIY .........coooiiiiiiiiieeee e 25
650-2-39B Cutterhead Package Line Boring 1.9 - 4.0” (48.26 - 101.60mm) Diameter...........cccccvvvvvvvvvvennnee. 26
650-2-39C Cutterhead Package Line Boring 2.9 - 5.6 (73.66 - 142.24mm) Diameter..............cccovvvveeeennnnne 27
Tooling For Cutterheads 650-2-39B & 650-2-39C ..., 28
6801B TOOI NOIAET ASSEIMDIY ...ttt e e et e e et e e e et et e e e et e e e e annnes 28
6801C Tool holder ASsSemDbIy, INAEXADIE ..........o ettt e e e e e e e e e e e e as 28
(S2ST00 A B I o Yo I 1o o [T g AN =T 1 | /PR 28
B80LE TOOI NOIAET ASSEIMDIY ...ttt e e bt e e e e st et e e e e bbbt e e e et e e e e e nbb e e e e e nnebes 28
BB0LF TOOI NOIAET ASSEIMDIY ...ttt et e e ookt e e e et et e e e e kb e e e e e et et e e e e nba e e e e e annnes 28
B6B0LG TOOI NOIAET ASSEIMBIY ...ttt e ettt et e e e e e e e e e e bbb et e e e e e e e e e e e e e annbbbbrereaaaaeaeaeas 28
(S2ST0 0 N o I o Yo I T o [T g AN =T 1 | /2P PEERR 28
(1S 10) I I o Yol I aTo] [0 [=T g NS T]=T 0 o] o] Y PP PRSP 28
6753N Special Extended Main Line Bore 90-Degree Right Angle Drive Package ..........ccccccooiiiiiiiiniicennns 29
Special Main Line Boring Thrust FACiNG TOON.........oiiiiiii e anraaneanne 30
(2SO 1Y/ o T I T ] (o LY TP PPPRPRRT 30
(S1eT0 N e Koo ] I o o] [o =T gl o= Tod = T = TP PPPRPRTT 30
501-29-6G INSEIT, THHANGQUIAK .. ...uiiiiiiiiieeiee ettt e e e e e e et e et e e e e e e s e e e ab e e e e eeeaaeeesasaa s e s beeeeeaeaeeeeesansnnstnsanreeaaaeeennas 30
oL e T G N N 1 1= o SRS 30

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 1]

www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

0N A o o I [ ST =T T ol = P SUPPPPPPN 30
Special Main Line Boring Chamfering TOOI .........ccooiiiiiiiiiiiiicii b aanrenneanne 30
e 0 ool = o] [ 1= PSSP OO O UPRPRRRR 30
LS Ee L G o T ] N o] [ = PSP 30
L0 e 1 = e T I = 1 SRR 30
Equipment for Centering [N BOIES ..... ... ittt a e e e e e e e e e e eeeeeesennnne 31
502-12-4A Magnetic Indicator HOlder ASSEMDIY.........uuiiiiiii e 31
502-9-9A Mechanical RUN OUL INAICALON ...........uuuiiii e e e e e e e e e e et e e e e e e e e e eanaeanaas 31
502-12-4 MAGNETIC BASE .....ciiiiiiiiiiiiitie ettt et e e e ettt et e e e e e o bbb ettt e e e e e s e bbb e et e e e e e e e e nbbbrneeeaeenaanns 31
(@ To gl IR T o T3 = o] o [ o I Ko Yo [1ia T [P PPPUSPP 32
650-3-43T Cam Line Bore TOOING PACKAQE ........uiiiiiiiiiieeiiis et s e e e e et e e e e e e e e aannnaaas 32
Cam Line Bar BUSRHINGS .....cooiiiiiiiiiiiiii et e e ettt e e s e e e e e e e e e e eeeeeeesssnnnnnns 34
650-3-43B Bushing - 62.992mMm (2.4807 +/- .0007) ........cecverreeerersiisereeeeeseesessesseesesese s een s es s e teseneseee s s seesseeneeensnens 34
650-3-43C Bushing - 57.963mMm (2.2827 +/- .0007) .......cceevrurereerereeisrerssseseseeessessee s sesessese s sssenesessesenassss s saesenenenensnens 34
650-3-43D Bushing - 57.150mMm (2.2507 #/- .0007) ...ceetiieeieiiiaiite ettt e e e e et e e e e e e e e e s aaaaaeas 34
650-3-43E Bushing - 70.866mMm (2.790” +/- .0007) ...eeveieeieiie ittt e e e e e e e e e e e e et e e e e e e s s e s arraaaeeeaeaaa i ———arraaaan 34
650-3-43F Bushing - 58.649mMm (2.309” +/- .0007) .......ccevivreereirsesiirereeseesessessesseesese s seseese s eeseneseesesesesses s seesenneeensnens 34
650-3-43G Bushing - 63.500MM (2.500” /- .0007) .......cceevrurerrerresiererseeseseseeeeseseeeseseseeessesesessssenesessesesssessenseaeseneaeensnens 34
650-3-43H Bushing - 53.848mMmMm (2.1207 +/- .0007) ...ceetiieiiiiiiiitete ettt et e e e e e e e e bbbt e e e e e e e e e e e eaaaaeas 35
650-3-43J Bushing - 51.562mMm (2.0307 +/- .0007)....ceetieeeeeiieieiiieiieeee et e e e e e e e e e et eeeeaeeeaasaa s a e e e e aeeeeaeeanannarrraaaaraaaen 35
650-3-43K Bushing - 51.816MmMm (2.0407 +/- .0015) .......cc.cvmruriirreireseeeseseseeeeseseeesesesesesses s s s s seesesesesees s eeeeeneeeeensnens 35
650-3-43L Bushing - 60.960MM (2.4007 +/-.0007) ....cutttieeiiiieiitetie et e e e e ettt e et e e e e e e s aa st b e et eeeeeaeeeaeaaaannararaeeeeaaaaas 35
650-3-43M Bushing - 53.975mMM (2.1257 +/-.0007) ....ceetteeeieiiiiiittee ettt et e e e e e e e st er e e e e e e e e e e e eeaaaeas 35
650-3-43N Bushing - 54.610mMm (2.150" +/- .0007) ....eeieeeeiiiiiieiiieteieie et e e e e e e e e r e et e e e e e e s s e e raeaea e e e e e e na b aaaaaeas 35
650-3-43P Bushing - 58.420mMm (2.3007 +/- .0007) ........ce.evreereerreeiirereeeeesesesesserseesssesesessesesessesenessesesesesses s seesennesensnens 36
650-3-43Q Bushing - 52.324mMmM (2.060” +/= .0007) ....eeuiieeeeiieeiititie et e e ettt et e e e e e e e e e bbbt e e eae e e e e e e aannabrraaeaeaaaaas 36
650-3-43R Bushing - 67.902Mm (2.673374/-.0007) ....eetteeiiiiiiiiitete ettt e e e e e e e e e bbb r e e e e e e e e e e e eaaaaeas 36
650-3-43S Bushing - 51.943mm (2.0450 +/= .0007) .......ceieeeeeeeeeeeeseeeeeee s ee e e esee et er s s s e eeee s e e et et esererer s s e ee e 36
LITtEr BOIE TOOIING. ... ittt ettt e e e e e e e e e e e e s e et e e e e e e e e e eeas 37
650-2-60B Lifter BOre TOOING Kit......ooiiiiiiiiiiiiie oottt e e e s e e e e e e s eeeeaeeaanes 37
B50-2-20C ENA MUl ——————————————————— 38
B50-2-20L ENA MIll. ..o 38
JLIE=1 00 Ko T 0T/ (=1 T o 38

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 v

www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

B650-2-60M T5 TOIX WIENCK ... nnsnssnnnnnnes 38
650-2-44A ENA Mill AQGPTET ... ..ottt e e e e ettt e e e e e s s bbbt e e e e e e e s e bbb e reeeeaeenanns 38
650-2-44L CAT 40 Retention KNOD ... ..o e 38
S 0 G 10 (O =T o1 g1 T I = - U PP TP OTPPPPPPRPPR 38
650-2-60E Cartridge with dial asSsembIy ... e 38
650-2-60G Insert for 0.750 - 0.900 diameter CArtridge .......cooiiuuiiiiiieeeee e e e e e aaes 38
B50-2-B0F WIENCK ... e 38
650-2-60D BOTING BA .....eiiiiiiiiiiiiiiei ittt e e e oo sttt et e et e e o bbbt ettt e e e e e e b e e et e e e e e e a b e rreaeaeeeaaans 39
(S1 OB 10 @Y g o Lo T o | Y25 39
(S0 10 I 1 0 o= PP 39
B50-2-B0K WIBNCN <. e 39
LToT 0T O] I o F= U0 = U= 39
Lifter Bore Bushing Installation TOOING .........ccooiiiiiiiiiice e e e e e e e 40
11117A 31MM Lifter SIEEVE PreSS TOON ... .. ittt e e e et e e ee e e e e e e eeeeeeeeeeeeees 40
111178 26.9mMM Lifter SIEEVE PreSS TOOI.....uuuuuiiiiiiiiiiiiiiiiiiiiiiiieeiieeeeeeeeeeeeeseeeeeeeeeseeaeseeessaeeseeeseeeseeeeeeeaeeeeeeeeeees 40
Spacers Required for the Performance FIXtUre #650-3-1 ......c.cccoiiiiiiiiiiiiii e e e e e e e e e eeneenaaas 40
650-3-TE 4-DEGIree Cam Bar SP@CET ... ..coiiiiiititee ettt ettt e e e et et e e et e e e e e a4 e e e e e ettt e e e e e e e r e e e e e e e 40
650-3-7F 6.25 Degree Cam Bar SPaACET .........ccuuuiiiiiiiieee ettt e e e e et et e et e e e e e et e e e e e 40
650-3-7G SpPACEr, CaM BaAr 3.5 DEOIEE. ....uuiitititieae i a e e e e e e e e e e e e e e e ettt et e e eeeesbebe bbb e e e e e e e e eeeas 40
S O o ST o T= (o= A O g g T == U g 5 1T | =T T 41
650-3-7J SPACEr CamM Bal 48-DEOIEE .....ccii ittt ettt e e et oottt e et e e e a4 e e e e ettt et e e e e e e e e e e e e e e e e 41
650-3-7N Spacer, Cam Bar 42-DEQOIEE.........cocuiiiiiiii ettt e e e e et ettt et e e e e e et e e e e e e 41
650-3-7P Spacer, Cam Bar 43-DEQgIEE..... ... it e e e e e e e e e e e et et e e a e e e b as 41
o O e @ ISy o - ot g O Ta g I = = T o D =T | = = 41
650-3-7S SPACEl, CaAM BaAr 44-DEOIEE......ccii ittt e e e a1ttt et e e e e e e s e e e e e e n s 41
650-3-7T Spacer, Cam Bar 48-DEQOIEE ........ccicuiiiiiiiii ittt e ettt e e e e e et e ettt et e e e e e et e r et e e aeee e e s 41
Complete Listing Of CAT 40 Taper ENd Mill HOIAEI'S ........cooiiiiiiiiiiiieeiie e 42
(S1s{0 B RV I AN F= Yo (o Tt A (04 11 1) PSSO PROTR 42
650-2-44S AdAPLOr 5/8” (L5.875IMIM) .eiiiieiiii i ittt e e e e e e e e e et reeeae e et et s s s e st e aeeeteeaeaaasasaneesbeeaeeeaaeeaeesanssnstnnsenreeaaeeeeans 42
650-2-44C AAaAPLOr 3/4” (19.051MIM) ...ueriiiiiiie ittt ettt e e e st e e me e e e ek e e e n e n e e ne e e e nn et e e e e n e e e 42
650-2-44B AdAPLOr 7/8” (22.225IMIM) ....eiiiiiieitie et ettt eteeatee et e e tee e teesseeeateeasee e et e atee e eeeasteeaseeambeeaseeanbeeameaenseeaseeanseesneeenneeanes 42
(S1s{0 B RV NN N I o] (o] g Al 022 ST 10 14 10 1) I USRS 42
(SIYO R Wil (AN F=Y o | (o ] g S 3 4 o o o 1 ) PP PEERR 42

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 Y,

www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

Thread TapPING TOOING .....u e e e e e e et e e e e e bbb e e e e e e e e e aeeeens 43
650-2-11K Quick Change Tap Holder Cartridge Assembly With AdApLOr ..........oviiiiiiiiiei e 43
650-2-11B Quick Change Straight Shank Tap Holder Cartridge. ..o 43
Torque Control TAP HOIAEIS ... 43
650-2-11C Torque CONTIOl TAP HOIAET .......eiiiiiiiiii et e et e et e e et e e e nneeas 43
650-2-11D Torque CONrol TAP HOIAEGY ...ttt e e e e e e e e e bbbttt e e e e e e e e e e s e nnnbbe b e e eaeaaaeaeaan 43
650-2-11E Torque CONtrol Tap HOIAEN ...ttt e e e e e e e s e e et e e e e e e e e e e s e e aa b b e rrereeeaaeeeaean 43
650-2-11F TOrque CONLIOl TAP HOIAET ... ettt e et e e e e et e e e e et e e e e et e e e e e anneeas 43
650-2-11G Torque CONrOl TAP HOITET .......iiieeeiie ettt et e et e e e et e e e ennaeas 43
[ || I e Yo 1Ty S SURSPPSPPUPRPP 44
650-2-44M Precision Drill ChUCK ASSEMDIY .........o i e e 44
650-2-9A DIill CRUCK AGAPTON ...ttt e e e e e ettt e e e e e e s e b bbb et e e e e e s s e sbbaneeeeeeeeaanes 44
650-2-9B Drill Chuck 1/8-5/8" (3.175-15.875mMm) With KeY ... 44
650-2-44N 2 1/2” (63.50mMmm) Shell Mill ASSEMDIY ......oviiiiiii e 45
650-2-44G SHEll Mill HOIARY ... nsnnnnnes 45
7224E 2 1/27 (63.50mMmM) ShEll Mill.... ..o e snnsnnssnnsnnnes 45
(SN O U ] g Lo [N g E1T o ST PPPPPRTT 45
T224D SOCKET HEAA CAP SCIEW ...uiiiiiiiiiie e e i i e ittt e e e e e e e e e ettt et e e e e e e e e s et s bt e e e e eeeaeeeaseeaaasbsbeeeeeaeaaaeeesanssnsensenreeeaaeaeanas 45
650-2-44L CAT 40 ReteNTION KNOD.....oii ittt e e e e s e e st r e e e e e e e e e s annnnsantneeneeaaeeeeen 45
650-2-44P 4 (101.60mm) Shell Mill ASSEMBIY ...t 46
650-2-44AFSNEI MIll HOIAET ...ttt e e e e ettt e e e e e s e bbbt a e e e e e s s nsbaneeeeeaeeeaanns 46
T7224F 47 (101.60mMmM) SNEI Mill ... e essnnnnnnnnnnes 46
(SN O W ] T [N g YT £SO PERRR 46
650-2-26B MOUNTING BOIt ...ttt e et e e e ettt e e e ek bt e e e e e n bt e e e e bbe e e e e e et be e e e e e anbbeeeeeannees 46
650-2-44L CAT 40 ReteNtiON KNOD ... ..o ettt e e e et e ettt e et e e e e e e e s e e nntae e raeaaaeaeaean 46
650-2-44W Block Lightening Tooling Package for Dart Small Block Chev...............cccoovviiviiiinnns a7
650-2-44X Block Lightening Tooling Package for World Products Small Block Chev ..........ccccoooeeeivvenne. 49
650-2-45J Block Lightening Tooling Package for Big BIOCK Chevy ...........cccccoiiiiiiiiiiiii e 51
650-2-45Q Big Block Main Cap Lightening Fixture Assembly with Tooling..........cccccoooeiiiiiiiiiieeci, 52
Connecting Rod Fixturing ANd TOOIING ........oooiiiiiiii e 53
650-3-44S Rottler Precision Connecting ROd FiXturing SYSTEM .........ooouiiiiiiiiiiiiiiiiecee e 53
650-2-3S CUtterNEad PACKAQE ........cuiiiiiii i e e e e e e e e e e e e e e e e e ettt s e e e e e e e eerannnnnn s 54

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 VI

www.rottlermfg.com



F60 Series @ Optional Equipment Catalog

(S OB I O U 1 (=1 g g == o B = T3 2= T [ 55

650-2-15F CULLErNEAA PACKAGE ......eiiiiiiiiiiiiiii ettt a et e e e e e e e s bbbt e e e e e e s s bbb e e e e e e e e eaaes 56

RTCR322 Insert, Triangular Positive Rake, 3/8 IC 1/64” (9.397mm) RadiUS..........ccccccviiiiiiieeriveeiiiiee e 56
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 VII

www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Spare Parts for Automatic Wireless Probe

6648U Spare Battery 650-3-59C 50mm long X 6mm diameter Stylus
for Renishaw probe (2 Required)

650-3-59D 100mm long X 6mm diameter Stylus 650-3-59E 20mm long X 2mm diameter Stylus

650-3-59K 50mm Extension for 50mm & 100mm Stylus | 6648T 10mm Stylus Extension

6648Q 17.5mm long X 6mm diameter Stylus

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 1
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Fixturing

650-3-30 Block End Truing Fixture Assembly

(Requires Performance Fixture Part #650-3-19) Used for Surfacing and Machining Front and Rear End of Block True to
Crankshaft Centerline.

B

.

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 2
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-3-30A Block End Truing Fixture Assembly
(Requires 4th Axis Fixture #650-3-59) Used for Surfacing and Machining Front and Rear End of Block True to Crankshaft

Centerline.

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-3-20A Pan Rail Wedge Fixture
(Requires Performance Fixture Part #650-3-1). Used for Fixturing 60 & 90-Degree OHC Blocks

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 4
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 5
www.rottlermfg.com



F60 Series @ Optional Equipment Catalog

650-3-84 Overhead Cam Block Fixture for V6 V8 engines, 4th Axis

THIS SET SCREW WILL BE
ADJUSTED AT EACH
BLOCK LOADING

ONCE SET, THIS SET SCREW
WOULD REMAIN STATIONARY

SET SCREW LOCATION
CAN BE ADJUSTED BY
MOVING TO OTHER
TAPPED HOLE AND/OR
MOVING BLOCK ON BASE

PLATE
650-3-62B
INDEXER
FACEPLATE
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 6

www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Miscellaneous Accessories

650-3-82 Mopar 5.7L Hemi Fixture Assembly

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 7
www.rottlermfg.com



F60 Series | H 0 T T L E R Optional Equipment Catalog

7242M Clamp Tower Assembly

4

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 8
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

7241P Rottler Economy Head and Block Fixture Assembly

-» »
- B
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 9

www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-3-37 1/2” (12.7mm) Universal Clamping Kit
Including T-Nuts, Bolts, Studs, Strap Clamps, Etc.

b .I”' ¢

650-2-11H Combination Grit Sharpening Stone
6 X2 X 1" (152.40 X 50.80 X 25.40mm)

650-2-45H 1” (25.4mm) Diameter Roughing End Mill
8 1/2” (215.90mm) long for block stroker clearance

Sl T 1 10

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 10
www.rottlermfg.com



F60 Series

R 0 T T L E R Optional Equipment Catalog

Gages and Indicators

650-3-38 Level-Intake and Exhaust Manifolds

502-9-9G Three Dimensional Electronic Position Finder
With Spindle Adaptor

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 11
www.rottlermfg.com



Optional Equipment Catalog

F60 Series

502-9-9A Mechanical Run Out Indicator

General Purpose (.001 Resolution)

502-11-39D Mechanical Run Out Indicator
For Precision Bore Adjustment (.0001 Resolution)

Ho.81-111 S
~
N
4 S

4
7, 5 “
mf/m i n\\“\\\

502-12-4 Magnetic Base
Including (2) Extension Arms for Indicators

12

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Boring/Sleeving/Chamfering/O-Ring Tooling

650-2-1D Cutterhead Package

2.0-4.0" (50.80 - 101.60mm) diameter X 7.0” (177.80mm) length complete with tooling and Digital Micrometer as Listed
Below:

(1) 650-2-1E Cutterhead Assembly

(1) 501-72J Hex Driver - 3/16” (4.775mm)

(1) 6801B Tool Holder, 2.0 - 2.4” (50.80 - 60.96mm) diameter, 1/4” (6.35mm) Triangular-Positive Rake

(1) 6801C Tool Holder, 2.4 - 2.8” (60.96 - 71.12mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) 6801D Tool Holder, 2.8 - 3.2" (71.12 - 81.28mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) 6801E Tool Holder, 3.2 - 3.6” (81.28 - 91.44mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) 6801F Tool Holder, 3.6 - 4.0” (91.44 - 101.60mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) T8D Wrench-Torx - 1/4” (6.35mm) Triangular Insert Holder

(1) 511-29-12D Wrench-Torx - 3/8” (9.525mm) Triangular Insert Holder

(1) RT212 Insert, Triangular 1/4” (6.35mm) 1/32 Radius (1/4 Triangle Insert Holders Only) General Purpose and
Sleeving

(1) RT211 Insert, Triangular 1/4” (6.35mm) 1/64 Radius (1/4 Triangle Insert Holders Only) General Purpose and
Sleeving

(1) RT321 Insert, triangular positive rake, 3/8” (9.525mm) 1/64” (.397mm) radius, general purpose and sleeving.
(1) RT322 Insert, triangular positive rake, 3/8” (9.525mm) 1/32” (.787mm) radius, general purpose and sleeving.
(1) 900-2-19 Universal Micrometer Assembly Digital Reading (Inch and Metric) for 1/2” (12.7mm) Tooling

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 13
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-14B Cutterhead Package

2.9-5.0"(73.66 - 127.00mm) diameter X 7.0” (177.80mm) length complete with tooling and Digital Micrometer as Listed
Below:

(1) 650-2-14C Cutterhead Assembly

(1) 900-2-20 Universal Micrometer Assembly Digital Reading (Inch and Metric) for 3/4” Tooling

(1) 6593C Tool Holder, 2.9 - 3.4” (73.66 - 86.36mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) 6593D Tool Holder, 3.4 - 3.9” (86.36 - 99.06mm) diameter, 3/8” (9.525mm) Triangular-Positive Rake

(1) 6520H Tool Holder, 2-1/4” (57.15mm), 3.75 - 4.0” (95.25 - 101.60mm) diameter

(1) 6520A Tool Holder, 2-3/8” (60.325mm), 4.0 - 4.5” (101.60 - 114.30mm) diameter

(1) 6520B Tool Holder, 2-5/8” (66.675mm), 4.5 - 5.0” (114.30 - 127mm) diameter

(1) 6260L Cartridge Assembly, Indexable Insert 1-7/8" (47.625mm) for Square Negative Rake Inserts

(1) 6260W Cartridge Assembly, Indexable Insert-Offset for Square Negative Rake Inserts

(1) RS322 Insert, Square Negative Rake, 1/32” (.787mm) Radius, 3/8 IC, Black Ceramic Coated for High Speed
Oversize Through Boring

(1) 6598M Cartridge Assembly, Indexable Insert 1-3/8” (34.925mm) for Triangular Positive Rake Inserts

(2) RT321 Insert, triangular positive rake, 3/8” (9.525mm) 1/64” (.397mm) radius, general purpose and sleeving.
(2) RT322 Insert, triangular positive rake, 3/8” (9.525mm) 1/32” (.787mm) radius, general purpose and sleeving.
(1) 511-29-12D Wrench-Torx-3/8" (9.525mm) Triangular Insert Holder

(1) 501-72B Wrench-Allen, 3/32” (2.388mm)

(1) 501-72E Wrench-Allen, 3/16” (4.775mm)

(1) 100-24 Tool Puller

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 14
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-14F Cutterhead Assembly

2.9-5.0" (73.66 - 127.00mm) Diameter X 10.0” (254mm) Length Complete with Tooling and Digital Micrometer listed
below:

(1) 650-2-14G Cutterhead Assembly

(1) 900-2-20 Universal Micrometer Assembly Digital Reading Inch and Metric (for 3/4” tooling)

(1) 6593C Cartridge Assembly - Indexable Insert, Triangular - Positive Rake, 2.90 - 3.40” (73.66 - 86.36mm)

(1) 6593D Cartridge Assembly - Indexable Insert, Triangular-Positive Rake, 3.40 - 3.90”

(1) 6520H Tool Holder, 2 1/4” (57.15mm) Long

(1) 6520A Tool Holder, 2 3/8” (60.325mm) Long

(1) 6520B Tool Holder, 2 5/8” (66.675mm) Long

(1) 6598M Cartridge, Indexable Insert Assembly - 13/16” (20.65mm) Shank Length for Triangular Positive Rake
Inserts. 1 3/8” (34.925mm) Overall Length

(2) RT321 Insert, triangular positive rake, 3/8” (9.525mm) 1/64” (.397mm) radius, general purpose and sleeving.
(2) RT322 Insert, triangular positive rake, 3/8” (9.525mm) 1/32” (.787mm) radius, general purpose and sleeving.
(1) 511-29-12D Wrench, Torx Triangular Insert Cartridge Tool holders

(1) 501-72B Wrench, Allen 3/32” (2.388mm)

(1) 501-72E Wrench, Allen 3/16” (4.775mm) F80 Series

(1) 6260W Cartridge, Offset, 3/8” (9.525mm) Square, Negative Rake

(1) RS322 Insert, Square Negative rake, Black Ceramic Coated 1/32” (.787mm) Radius High Speed Oversize
through Boring

(1) 6260L Cartridge Assy - Indexable Insert - 1 7/8” (47.625mm) for Square, Negative Rake Inserts for Hi Speed
through Boring

(1) 501-72 Driver, Hex - 7/32" (5.556mm) Ball Nose

(1) 100-24 Puller, Tool

(1) 501-72J Driver, Hex - 3/16” (4.775mm)

(1) 501-34-2S Wrench, Micrometer (For Inch/Metric Mic Heads)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 15
www.rottlermfg.com



F60 Series ROTTLEH

Extender for 650-2-14 Cutterheads

Optional Equipment Catalog

650-2-16D 1.400” (35.56mm) Spacer
(Extension) for 650-2-14A and F 2.9” (73.66mm) Cutterheads

Miscellaneous Tooling for 650-2-14 Cutterheads

501-29-6K PCD Tipped Triangular 6598M Cartridge, Triangular 6599 Cartridge, Triangular
Insert Positive Rake, 13/16” (20.650mm) Zero Rake, 1.88” (47.75mm) Long, for
For Boring/ Shank Length, for Counter Boring Steel Cutting, requires RTS inserts

Counterboring
Aluminum Only -
Ideal for Finishing
Boring and
Counterboring of
Aluminum/Alusil
Blocks in Preparation for a Sleeve.

6599D Cartridge, Triangular 6513J Tool Bit 6513L Tool Bit
Zero Rake, 1.88” (47.75mm) Long, Brazed Carbide - .037” (.940mm) Brazed Carbide - .039” (.991mm)
insert offset down .250” (6.4mm) for Wide O Ring Grooving Wide O Ring Grooving
blind holes, for Steel Cutting, requires
RTS inserts
6513N Tool Bit 6513Q Tool Bit
Brazed Carbide - .060” (1.524mm) Brazed Carbide - .120” (3.048mm)
Wide O Ring Grooving Wide O Ring Grooving
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 16

www.rottlermfg.com



F60 Series

6513P Tool Bit
Brazed Carbide - .085” (2.159mm)
Wide O Ring Grooving

6747G Cartridge Assembly - 15
Degree Chamfer
For Triangular Positive Rake Inserts

6747H Cartridge Assembly - 30
Degree Chamfer
For Triangular Positive Rake Inserts

R 0 T T L E R Optional Equipment Catalog

6747K Cartridge Assembly - 5 6747P Cartridge Assembly - 10
Degree Chamfer Degree Chamfer
For Triangular Positive Rake Inserts For Triangular Positive Rake Inserts

S

6747F Cartridge Assembly - 20 6747M Cartridge Assembly - 20
Degree Chamfer Degree Chamfer
For Triangular Positive Rake Inserts For Triangular Positive Rake Inserts

(Special Application Only)

6593L Cartridge Assembly 6593M Cartridge Assembly
Offset Indexable Insert, Triangular Offset Indexable Insert, Triangular
Positive Rake, 3.14 - 3.40" (79.756 - Positive Rake, 3.40 - 3.90” (86.36 -
86.36mm) diameter 99.06mm) diameter

6593N Cartridge Assembly
Offset Indexable Insert, Triangular
Positive Rake, 3.90 - 4.40” (99.06 -
111.76mm) diameter

6593P Cartridge Assembly

Offset Indexable Insert, Triangular
Positive Rake, 4.40 - 4.90” (111.76 -
124.46mm) diameter

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 17

www.rottlermfg.com



F60 Series

RT211 Insert

Triangular 1/4” (6.35mm) 1/64” (.397mm) radius, 1/4”
triangular Insert holders only, general purpose and
sleeving (10% Discount on orders of 10-49, 20% Discount
on orders of 50 or more)

RT321 Insert

Triangular positive rake, 3/8” (9.525mm) 1/64” (.397mm)
radius, general purpose and sleeving (10% Discount on
orders of 10-49, 20% Discount on orders of 50 or more)

RT321F Insert

Triangular positive rake, 3/8” 1/64” Radius, Precision
Counterboring (10% Discount on orders of 10-49, 20%
Discount on orders of 50 or more)

RTS321 Insert

Triangular, 3/8” 1/64” Radius, General Purpose Steel
Cutting, (10% Discount on orders of 10-49, 20% Discount
on orders of 50 or more)

'ROTTLER

Optional Equipment Catalog

RT212 Insert

Triangular 1/4” (6.35mm) 1/32” (.787mm) radius, 1/4”
triangular Insert holders only, general purpose and
sleeving (10% Discount on orders of 10-49, 20% Discount
on orders of 50 or more)

RT322 Insert

Triangular positive rake, 3/8” (9.525mm) 1/32” (.787mm)
radius, general purpose and sleeving (10% Discount on
orders of 10-49, 20% Discount on orders of 50 or more)

RT322F Insert

Triangular positive rake, 3/8” 1/32” Radius, Precision
Counterboring (10% Discount on orders of 10-49, 20%
Discount on orders of 50 or more)

RS322 Insert

Square negative rake, 1/32” (.787mm) radius, 3/8”
(9.525mm) IC, black ceramic coated for high speed
oversize through boring (10% Discount on orders of 10-49,
20% Discount on orders of 50 or more)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 18
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Surfacing Tooling

650-2-8E Surfacing Cutterhead, Flycutter, 10” (254mm) Diameter
Including (2) Radially and Axially Adjustable 3/8” (9.525mm) IC Insert Holders (Inserts Must be Ordered Separately)

650-2-8F Surfacing Cutterhead, Flycutter, 14” (356mm) Diameter
Including (2) Radially and Axially Adjustable 3/8” (9.525mm) IC Insert Holders (Inserts Must be Ordered Separately)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 19
www.rottlermfg.com



F60 Series @ Optional Equipment Catalog

6303B CBN Insert 6303M Pcd Insert 6303K Coated Carbide Insert
Round, Double-Sided, 3/8” (9.525mm) Round, 3/8” (9.525mm) IC, for Cutting Round, 3/8” (9.525mm) IC, for General
IC, for Cutting Cast Iron (15% Aluminum (15% Discount on orders of Purpose Use
Discount on orders of 10 or more) 10 or more)
6303S CBN Insert 6303U CBN Round Insert
Round, 3/8” (9.525mm) IC, for Cutting Single Sided, 3/8” IC. For hard cast
Aluminum Blocks with Liners (15% iron (15% Discount on orders of 10 or
Discount on orders of 10 or more) more)
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 20

www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Surfacing Fixtures

7209M Leveling Table with Airfloat
Complete with Universal Work Holding System for Surfacing Cylinder Heads and Small In-Line Blocks

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 21
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

7226G Exhaust and Intake Manifold Surfacing Fixture System
For 7209M Table

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 22
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

7152A Dual Axis Level Assembly

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 23
www.rottlermfg.com



F60 Series ‘ R 0 T T L E R Optional Equipment Catalog

Main Line Bore Tooling

6753Q Main Line Bore 90 Degree Right Angle Drive Assembly
Diameter 1.9 - 5.6” (48 - 142.2mm) Minimum clearance 3.29” (83.6mm) with 650-2-39B Cutterhead, Includes 5 extensions
spacers

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 24
www.rottlermfg.com



F60 Series ‘ 0 T T L E R Optional Equipment Catalog

650-2-38G Special Belt Drive 90 Degree Right Angle Drive Assembly
For Limited Clearance Between Bearing Caps, Diameter 1.9 - 4.0” (48 - 101.6mm) Minimum clearance 2.7” (69mm) with
650-2-39B Cutterhead, includes 5 extension spacers

Note: Cutterheads are not included with right angle drive and must be ordered separately

Note: The Belt Drive Right Angle Drive is Designed for Limited Clearance Between Bearing Caps and It's Cutting
Performance Will Deteriorate as Larger Diameters are Bored and Extension Spacers are Used.

Note: Length of Bores can be Increased with Extension Spacers. The Addition of Extension Spacers Will Increase The
Minimum Distance Between Bearing Housings by the Length of the Spacer. Allow for some Clearance either side of the
Assembly for Safety While

Rottler Right Angle Drive Line Bore System will not be able to Line Bore Blocks that have Castings Between the Main
Bearing Caps Found in Some New Design Light Weight Blocks.

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 25
www.rottlermfg.com



R 0 T T L E R Optional Equipment Catalog

650-2-39B Cutterhead Package Line Boring 1.9 - 4.0” (48.26 - 101.60mm) Diameter
Complete with Tooling and Digital Micrometer. (When used with 11103 Drive, minimum distance between Bearing
Housings 3.29”) (83.6mm)

F60 Series

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

26



R 0 T T L E R Optional Equipment Catalog

650-2-39C Cutterhead Package Line Boring 2.9 - 5.6” (73.66 - 142.24mm) Diameter
Complete with Tooling and Digital Micrometer. When used with 11103 Drive, minimum distance between Bearing Housings

X A

F60 Series

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

27



F60 Series R 0 T T L E R Optional Equipment Catalog

Tooling For Cutterheads 650-2-39B & 650-2-39C

6801B Tool holder Assembly 6801C Tool holder Assembly, Indexable
Indexable Insert 1/4” Triangle, Positive Rake, 1.44" Insert 3/8” Triangle, Positive Rake, 1.65” (41.91mm)
(36.576mm) Overall Length Overall Length

6801D Tool holder Assembly 6801E Tool holder Assembly
Indexable Insert 3/8” Triangle, Positive Rake, 1.85” Indexable Insert 3/8” Triangle, Positive Rake, 2.05”
(46.99mm) Overall Length (52.07mm) Overall Length

6801F Tool holder Assembly 6801G Tool holder Assembly
Indexable Insert 3/8” Triangle, Positive Rake, 2.25” Indexable Insert 3/8” Triangle, Positive Rake, 2.45”
(57.15mm) Overall Length (62.23mm) Overall Length

6801H Tool holder Assembly 6801J Tool holder Assembly
Indexable Insert 3/8” Triangle, Positive Rake, 2.65” Indexable Insert 3/8” Triangle, Positive Rake, 2.85”
(67.31mm) Overall Length (72.39mm) Overall Length

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 28
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

6753N Special Extended Main Line Bore 90-Degree Right Angle Drive Package

Complete with Narrow Cutterhead and Tooling 1.9 - 2.4” (48.26 - 50.96mm) diameter. Minimum Distance Between Bearing
Caps 3.08” (78.232mm) Includes the following items:.

(1) 6753P Special Extended Main Line Bore 90-Degree Right Angle Drive Assembly

(1) 6801N Tool holder Assembly Indexable Insert 1/4” (6.35mm) IC Triangle, Positive Rake. Extreme Offset Tool
holder, Also add to Order at No Charge: (1) 502-30-10G, (1) 502-30-10J and (1) MF-5 Required to Set This Tool in
900-2-19 Micrometer.

(1) 6801B Tool holder Assembly Indexable Insert 1/4” (6.35mm) IC Triangle, Positive Rake

(1) RT211 Insert, triangular 1/4” (6.35mm) 1/64” (.397mm) radius, 1/4” triangular Insert holders only, general
purpose and sleeving

(1) RT212 Insert, triangular 1/4” (6.35mm) 1/32” (.787mm) radius, 1/4” triangular Insert holders only, general
purpose and sleeving

(1) 900-2-19 Universal Micrometer Assembly Digital Reading (Inch and Metric) for 1/2” (12.7mm) Tooling

(1) 501-72J Hex Driver - 3/16” (4.775mm)

(1) T8D Wrench-Torx - 1/4” (6.35mm) Triangular Insert Holder

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 29
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Special Main Line Boring Thrust Facing Tool

6801M Tool Holder 6801P Tool Holder Package 501-29-6G Insert, Triangular
Indexable Insert, Thrust Facing .160 Indexable Insert, Thrust Facing 350 .160 IC 1/64” (.397mm) Radius
IC, Positive Rake Chevy and other small blocks line

boring

y 9

501-29-6J Insert 501-29-6H Insert Screw
Triangular, .160 IC 1/32” (.787mm)
Radius

Special Main Line Boring Chamfering Tool

199-90 Tool Holder 199-96 Tool Holder 501-33E Tool Bit
2 -3"(50.80 - 76.20mm) 3-4"(76.20 - 101.60mm) 45 Degree Chamfer

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 30
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Equipment for Centering In Bores

502-12-4A Magnetic Indicator Holder Assembly
(Requires 502-9-9A Mechanical Runout Indicator)

502-9-9A Mechanical Run Out Indicator
General Purpose (.001 Resolution)

502-12-4 Magnetic Base
Including (2) Extension Arms for Indicators

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 31
www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

Cam Line Boring Tooling

650-3-43T Cam Line Bore Tooling Package

(Requires 650-3-30 Block End Truing Fixture, 650-3-1 Performance Fixture and 6753Q Right Angle Drive Assembly)
Customer Must Order Cam Line Bar Bushings and Cam Bearing Locators to Suit Diameter to be Line Bored. Includes the
following items:

650-2-3R Stub Bar Assembly 1.9 - 2.3"” (48.26 - 58.42mm) diameter

650-3-43 Support, Locator-Cam Line Boring (Customer Must Choose the Cam Bearing Locators they Require from
the Listing of 650-3-19 Series Cam Bearing Locators - two are Required for Use with Support)

650-2-32 Block Clamp Arm Cam Line Boring (two Each Are Required) Cost for Each:

650-2-32A Stud, Block Clamp Arm Cam Line Boring (two Are Required) Cost for Each:

650-2-19G Adapter and Dual Flex Coupling Assembly Cam Line Boring

650-2-32D Bar, Cam Line Boring 1-3/4” X 45” (44.45 X 1143.00mm) Long

650-2-32E Cartridge, Indexable Insert Cam Line Boring, 1.530” (38.862mm) Long, Range 1.985 - 2.650” (50.419 -
67.310mm) diameter. Two included in Assembly. Cost for Each:

650-2-32F Cartridge, Indexable Insert Cam Line Boring, 1.650” (41.91mm) Long, Range 2.250 - 2.850” (57.150 -
72.390mm) diameter. One included in Assembly. Cost for Each:

650-2-32G Wrench, Tool bit Adjusting Cam Line Boring (3mm)

650-2-32H Wrench, Tool bit Lockscrew Cam Line Boring (2.5mm)

650-2-32J Wrench, Tool bit Insert Screw Cam Line Boring T-6

650-2-32L Insert, Cam Line Boring (Three Each Included In Assembly) Cost for Each:

650-2-32M Screw, Insert Cam Line Boring (Three Each Included In Assembly) Cost for Each:

650-2-33 Indicator, Tool Setting With Magnetic Base Cam Line Boring

650-2-32K Tool Bit, Oil Groove Cam Line Boring

199-96 Tool Holder, 1-1/4” (31.75mm) Or Choose Holder Required From 199- Series Tool Holders

650-2-3Q Stub Bar Assembly. 1.9 - 2.3” (48.26 - 58.42mm) diameter with Standard Tooling. 1.9 - 2.7" (48.26 -
68.58mm) With Optional Tool holder

6802B Tool Holder Assembly, Indexable Insert 1/4” (6.35mm) Triangle, Positive Rake 1.9 - 2.3” (48.26 -
58.42mm) Diameter. Cam Line Bore Cutterhead Only

6802C Tool Holder Assembly, 3/8” (9.525mm) Triangular Positive Rake 2.3 - 2.7 (58.42 - 68.58mm) diameter.
(Optional) Note: Requires 3/8” (9.525mm) Insert, RT321 or RT322

900-2-19 Universal Micrometer Assembly Digital Reading (Inch and Metric) for 1/2” tooling

501-72A Hex Driver, 5/32” (3.962mm)

T8D Torx Wrench, Triangular Insert Cartridge Tool holders. 1/4” (6.35mm) Triangle Insert Holders Only

RT211 Insert, Triangular 1/4” (6.35mm) 1/64 Radius (1/4 Triangle Insert Holders Only) General Purpose and
Sleeving

RT212 Insert, Triangular 1/4” (6.35mm) 1/32 Radius (1/4 Triangle Insert Holders Only) General Purpose and
Sleeving
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 32

www.rottlermfg.com



F60 Series Optional Equipment Catalog

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 33
www.rottlermfg.com



F60 Series R 0 T T L E H Optional Equipment Catalog

Cam Line Bar Bushings

If Customer Requires Sizes Other Than Listed Following, Rottler Will Manufacture the Required Size. Customer Must
Provide the Size, Including Tolerance, of the Housing Bore/s the Bushing will be used in. Rottler will use this Information
to Design the Actual Bushing. (Sold In Pairs) Bushings are Machined Smaller than Housing Bore.

650-3-43C Bushing - 57.963mm (2.282” +/- .0007)

650-3-43B Bushing - 62.992mm (2.480” +/- .0007)
(Sold in pairs)

(Sold in pairs)

650-3-43E Bushing - 70.866mm (2.790” +/- .0007)

650-3-43D Bushing - 57.150mm (2.250” +/- .0007)
(Sold in pairs)

(Sold in pairs)

650-3-43G Bushing - 63.500mm (2.500” +/- .0007)

650-3-43F Bushing - 58.649mm (2.309” +/- .0007)
(Sold in pairs)

(Sold in pairs)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 34

www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-3-43H Bushing - 53.848mm (2.120” +/- .0007) 650-3-43J Bushing - 51.562mm (2.030” +/- .0007)
(Sold in pairs) (Sold in pairs)

650-3-43K Bushing - 51.816mm (2.040” +/- .0015) 650-3-43L Bushing - 60.960mm (2.400” +/-.0007)
(Sold in pairs) (Sold in pairs)

650-3-43M Bushing - 53.975mm (2.125” +/-.0007) 650-3-43N Bushing - 54.610mm (2.150” +/- .0007)
(Sold in pairs) (Sold in pairs)

Vé

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 35
www.rottlermfg.com



F60 Series R 0 T T L E H Optional Equipment Catalog

650-3-43P Bushing - 58.420mm (2.300” +/- .0007) 650-3-43Q Bushing - 52.324mm (2.060” +/- .0007)
(Sold in pairs) (Sold in pairs)

650-3-43R Bushing - 67.902mm (2.6733”+/-.0007) 650-3-43S Bushing - 51.943mm (2.0450 +/- .0007)
(Sold in pairs) (Sold in pairs)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 36
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Lifter Bore Tooling

650-2-60B Lifter Bore Tooling Kit
For F69A only

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

37



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-20C End mill 650-2-20L End mill

Special .980” (24.892mm) diameter X 8-1/2” (215.9mm) Center cutting 1-1/8” (28.545mm) diameter X 6-1/2”

long. Four flutes. 17 (25.4mm) shank (Chevy) (165.1mm) long. Six flutes. 17 (25.4mm) shank (Chevy &
Ford)

T8D Torx Wrench 650-2-60M T5 Torx Wrench
1/4” (6.35mm) Triangular Insert Holder

650-2-44A End Mill Adapter 650-2-44L CAT 40 Retention knob

1" (25.4mm) Complete with 650-2-44L Retention Knob
CAT 40 Taper

650-2-60C Boring Bar 650-2-60E Cartridge with dial assembly
0.750 - 0.900” (19.05 - 22.86mm) diameter 0.750 - 0.900 diameter )
650-2-60G Insert for 0.750 - 0.900 diameter 650-2-60J Wrench

cartridge For 0.750 - 0.900 diameter cartridge

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 38
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-60D Boring Bar 650-2-60F Cartridge only

0.920 - 1.180" (23.36 - 29.97mm) diameter 0.920 - 1.180 diameter

650-2-60H Insert 650-2-60K Wrench

For 0.920 - 1.180 diameter cartridge For 0.920 - 1.180 diameter cartridge

650-2-60L Hardware kit

(including dial and mounting screws) for 650-2-60F
cartridge

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 39
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Lifter Bore Bushing Installation Tooling

11117A 31mm Lifter Sleeve Press Tool
Requires CAT 40 Adapter 1”

11117B 26.9mm Lifter Sleeve Press Tool
Requires CAT 40 Adapter 1”

Spacers Required for the Performance Fixture #650-3-1
To set V blocks at the correct angle for lifter boring machine work

650-3-7E 4-Degree Cam Bar Spacer 650-3-7F 6.25 Degree Cam Bar 650-3-7G Spacer, Cam Bar 3.5
Chev. Small Block Only Spacer Degree
Chev. Big Block Only Ford 289/302/351W

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

40



F60 Series R 0 T T L E R Optional Equipment Catalog

650-3-7H Spacer, Cam Bar 4-Degree 650-3-7J Spacer Cam Bar 48-Degree 650-3-7N Spacer, Cam Bar
Ford 429/400 Mopar Small Block (Race) 42-Degree
Chevy Aurora

650-3-7P Spacer, Cam Bar 650-3-7Q Spacer, Cam Bar 650-3-7S Spacer, Cam Bar
43-Degree 44-Degree 44-Degree
Chevy Aurora Chevy Aurora Chevy Small Block

650-3-7T Spacer, Cam Bar
48-Degree
Chrysler Big Block

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 41
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Complete Listing Of CAT 40 Taper End Mill Holders

650-2-44J Adaptor 1/2” (12.70mm) 650-2-44S Adaptor 5/8” (15.875mm)

650-2-44C Adaptor 3/4” (19.05mm) 650-2-44B Adaptor 7/8” (22.225mm)

650-2-44A Adaptor 1”7 (25.40mm) 650-2-44K Adaptor 1-1/4” (31.75mm)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 42
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Thread Tapping Tooling

650-2-11K Quick Change Tap Holder Cartridge 650-2-11B Quick Change Straight Shank Tap Holder
Assembly with Adaptor Cartridge

Torque Control Tap Holders
For 650-2-11B Straight Shank Tap Holder Cartridge

650-2-11C Torque Control Tap 650-2-11D Torque Control Tap 650-2-11E Torque Control Tap
Holder Holder Holder
For 1/4” (6.35mm) Taps For 5/16” (7.95mm) Taps For 3/8” (9.525mm) Taps

650-2-11F Torque Control Tap 650-2-11G Torque Control Tap
Holder Holder
For 7/16” (11.13mm) Taps For 1/2" (12.70mm) Taps

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 43
www.rottlermfg.com



F60 Series Optional Equipment Catalog

Drill Tooling

650-2-44M Precision Drill Chuck Assembly

650-2-9A Drill Chuck Adaptor

650-2-9B Drill Chuck 1/8-5/8” (3.175-15.875mm) With Key

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 44
www.rottlermfg.com



F60 Series Optional Equipment Catalog

650-2-44N 2 1/2” (63.50mm) Shell
Mill Assembly

650-2-44G Shell Mill Holder

7224E 2 1/2” (63.50mm) Shell Mill

_—-
6514T Cutting Inserts 7224D Socket Head Cap Screw 650-2-44L CAT 40 Retention knob
For 2-1/2” (63.50mm) Shell Mill (Six 3/8-24Nf X 1”

Required)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 45
www.rottlermfg.com



F60 Series Optional Equipment Catalog

650-2-44P 4” (101.60mm) Shell Mill Assembly

650-2-44FShell Mill Holder

7224F 47 (101.60mm) Shell Mill

e —
6514T Cutting Inserts 650-2-26B Mounting Bolt 650-2-44L CAT 40 Retention knob
For 4” (101.60mm) Shell Mill (Eight
Required)
8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 46

www.rottlermfg.com



F60 Series @ Optional Equipment Catalog

650-2-44W Block Lightening Tooling Package for Dart Small Block Chev

Includes the following items:

(2) 650-2-44A End Mill Adapter 1” (25.4mm) Complete With 650-2-44L Retention Knob CAT 40 Taper F69A

(1) 650-2-44V 1” (25.4mm) Four Fluted End Mill X 4” (101.6mm) Overall Length-Block Lightening Tooling Package
(1) 650-2-45C Indexable Tool holder Mill 1" (25.4mm) Block Lightening Tooling Package

(10) 650-2-45D Inserts for 1” (25.4mm) Indexable Tool holder mill - Block Lightening Tooling Package

(1) 650-2-44K End Mill Adapter 1 1/4” (31.75mm) Complete with 650-2-44L Retention Knob CAT 40 Taper F69A
(1) 650-2-45A Indexable Tool holder Mill 1 1/2” (38.1mm) Block Lightening Tooling Package

(10) 650-2-45B Inserts for 1 1/2” (38.1mm) Indexable Tool holder Mill -Block Lightening Tooling Package

(3) 650-2-44S End Mill Adapter 5/8” (15.875mm) Complete with 650-2-44L Retention Knob CAT 40 Taper

(1) 650-2-44T 5/8” (15.875mm) Four Fluted End Mill X 6.00” (152.4mm) Overall Length. Block Lightening Tooling
Package

(2) 650-2-44U 5/8” (15.875mm) Four Fluted End Mill X 3.50” (88.9mm) Overall Length. Block Lightening Tooling
Package

(2) 650-3-14R Locator-Cam Chevy CNC Bow-Tie Block All Cam Bores 1.9990/2.0010 Diameter

(1) 650-3-69 Locator, Main#5, 2.6406 - 2.6421" (67.07 - 67.11mm) bore, 4th Axis Fixture

(1) 650-3-87A Block Pacer Block Lightening Package

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 47
www.rottlermfg.com



F60 Series Optional Equipment Catalog

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 48
www.rottlermfg.com



F60 Series H 0 T T L E R Optional Equipment Catalog

650-2-44X Block Lightening Tooling Package for World Products Small Block Chev
Includes the following items:

(1) 650-2-44Z Software Package - Rottler Complete Block Lightening Program for World Blocks

(2) 650-2-44A End Mill Adapter 1” (25.4mm) Complete With 650-2-44L Retention Knob CAT 40 Taper F69A

(1) 650-2-44V 1" (25.4mm) Four Fluted End Mill X 4” (101.6mm) Overall Length-Block Lightening Tooling Package
(1) 650-2-45C Indexable Tool holder Mill 1" (25.4mm) Block Lightening Tooling Package

(10) 650-2-45D Inserts for 1” (25.4mm) Indexable Tool holder mill - Block Lightening Tooling Package

(1) 650-2-44K End Mill Adapter 1 1/4” (31.75mm) Complete with 650-2-44L Retention Knob CAT 40 Taper F69A
(1) 650-2-45A Indexable Tool holder Mill 1 1/2” (38.1mm) Block Lightening Tooling Package

(10) 650-2-45B Inserts for 1 1/2” (38.1mm) Indexable Tool holder Mill -Block Lightening Tooling Package

(3) 650-2-44S End Mill Adapter 5/8” (15.875mm) Complete with 650-2-44L Retention Knob CAT 40 Taper

(1) 650-2-44T 5/8” (15.875mm) Four Fluted End Mill X 6.00” (152.4mm) Overall Length. Block Lightening Tooling
Package

(2) 650-2-44U 5/8” (15.875mm) Four Fluted End Mill X 3.50” (88.9mm) Overall Length. Block Lightening Tooling
Package

(1) 650-3-14 Locator-CAM Small Block Chevy Known Applications: Chevy 283/327/350/400 X5 CAM Bore
2.0090/2.0110” (51.029/51.079mm) Diameter

(1) 650-3-14G Locator-CAM Small Block Chevy Known Applications: Chevy 283/327/350/400 X5 CAM Bore
2.0190/2.0210" (55.626/51.333mm) Diameter

(1) 650-3-69 Locator, Main#5, 2.6406 - 2.6421" (67.07 - 67.11mm) bore, 4th Axis Fixture

(1) 650-3-87A Block Pacer Block Lightening Package

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 49
www.rottlermfg.com



F60 Series Optional Equipment Catalog

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 50
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-45J Block Lightening Tooling Package for Big Block Chevy
Includes the following items:

(1) 650-3-87A Block Pacer-Block Lightening Package

(2) 650-2-44A End Mill Adapter 1” (25.4mm) Complete With 650-2-44L Retention Knob CAT 40 Taper F69A
(1) 650-2-44K End Mill Adapter 1 1/4” (31.75mm) Complete with 650-2-44L Retention Knob CAT 40 Taper F69A
(1) 650-2-45A Indexable Tool holder Mill 1 1/2” (38.1mm) Block Lightening Tooling Package

(10) 650-2-45B Inserts for 1 1/2” (38.1mm) Indexable Tool holder Mill -Block Lightening Tooling Package

(1) 650-2-45C Indexable Tool holder Mill 1" (25.4mm) Block Lightening Tooling Package

(10) 650-2-45D Inserts for 1” (25.4mm) Indexable Tool holder mill - Block Lightening Tooling Package

(1) 650-2-45L Indexable Tool holder Mil 1" (25.4mm) Block Lightening Tooling Package

(10) 650-2-45M Indexable Milling Insert for 650-2-45L Tool Holder Mill, Block Lightening Tooling Package
(10) 650-2-45N Indexable Milling Insert for 650-2-45L Tool Holder Mill, Block Lightening Tooling Package
(2) 650-3-14P Locator - CAM Chevy CNC Bow, Tie Block all CAM Bores 2.1200/2.1210" (53.848/53.873mm)
(1) 650-3-69B Locator, Main #5, 2.9380 - 29395” (74.63 - 74.66mm) bore

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 51
www.rottlermfg.com



F60 Series ROTTLEH

650-2-45Q Big Block Main Cap Lightening Fixture Assembly with Tooling
Includes the following items:

Optional Equipment Catalog

(1) 650-2-45U Indexable Ball Nose Endmill - Main Bearing Cap Lightening
(10) 650-2-45V Carbide Inserts - Ball Nose Enmill - Main Bearing Cap Lightening

(4) 650-2-45W Button Head Screw, 1/2-13 X 3" (12.7-330.2 X 76.2mm) Long - Main Bearing Cap Lightening
Fixture

(1) 650-2-45R Fixture - Main Bearing Cap Lightening

(2) MF-202 Dowel Pins 1/4 X 1/2” (6.35 X 12.7mm)

(1) MF-12 Socket Head Capscrew 1/4-20 X 1/2” (6.35-508 X 12.7mm)

(2) MF-15 Socket Head Capscrew 1/4-20 X 1” (6.35-500 X 25.4mm)

(1) MF-82 Socket Head Capscrew 3/8-16 X 3/4” (9.525-406.4 X 19.05mm)
(1) 650-2-45X Driver, Rear Main - Main Bearing Cap Lightening

(1) 650-2-45T Locator, Rear Main - Main Bearing Cap Lightening

(1) 650-2-45S Spacer Plate, Rear Main - Main Bearing Cap Lightening

DA S PO O

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 52
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

Connecting Rod Fixturing And Tooling

650-3-44S Rottler Precision Connecting Rod Fixturing System
For Connecting Rods Center to Center Distance Approx 8 - 24” (200 - 600mm)

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230 53
www.rottlermfg.com



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-3S Cutterhead Package
1.0 - 2.0” (25 - 50mm) Diameter X 3.0” (75mm) Long Complete with Tooling and Digital Micrometer for Con Rod

Application

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

54



F60 Series R 0 T T L E R Optional Equipment Catalog

650-2-3T Cutterhead Package
2.0-4.0" (50 - 200mm) Diameter X 4.0” (100mm) Long Complete with Tooling and Digital Micrometer for Con Rod

Application.

> b 4

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

55



R 0 T T L E R Optional Equipment Catalog

F60 Series

650-2-15F Cutterhead Package
2.9 -8.0" (73.5 - 200mm) Diameter X 4.0” (100mm) Long Complete with Tooling and Digital Micrometer for Con Rod

Application.

RTCR322 Insert, Triangular Positive Rake, 3/8 IC 1/64” (9.397mm) Radius
For Connecting Rod Steel Cutting Only

8029 S 200th Street, Kent, WA 98032 USA | Ph: (253) 872-7050 | Fax: (253) 395-0230
www.rottlermfg.com

56



	F60 Series Optional Equipment Catalog Cover
	F60 Series Optional Equipment Catalog 061316

